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% JEAG4601-1991 GEMRR) (XY, BECEAITEY LG he, v, y ZH WS,
Vs 1T G, By KRB,

’ <
14.8m s>
10.4m @
___________________________ ®_______' R —
2.6m
0.0m
——————————————————————————— Q- N
—4.45m
___________________________ @ _______|
-11.1m
-14.1m ®

HEL Lok (BAL : m)




% 2-33 NS HFMAlmmILA, JE (Ss-D1)

Y =P I$4a(t/cm) P (t + s/cm)
3 2. 581E+02 2. 307E+02
OW-K 4 6. 672E+02 5. 020E+02
5 1. 075E+04 1. 778E+03
10 1. 8OBE+02 1. 616E+02
IW-J 11 4. 672E+02 3. 5b15E+02
12 7. 529E+03 1. 245E+03
22 2. 059E+02 1. 840E+02
W-C 23 5. 321E+02 4. 004E+02
24 8. 575E+03 1. 418E+03
27 2. 850E+02 2. 547E+02
OW-A 28 7. 366E+02 5. 543E+02
29 1. 187E+04 1. 963E+03
30 5. 630E+04 2. 622E+04
FERERR
31 2. 540E+04 3. 486E+03
B 2-4 3 EW AmMfilmE X4, 8 (Ss-D1)
SR, B 342 (t/cm) P (¢ + s/cm)
3 2. 850E+02 2. 548E+02
oW-1 4 7. 366E+02 5. 547E+02
5 1. 187E+04 1. 971E+03
7 1. 857E+02 1. 660E+02
V-2 8 4. T98E+02 3. 613E+02
9 7. T34E+03 1. 284E+03
24 1. T99E+02 1. 60SE+02
IW-10 25 4. 649E+02 3. 501E+02
26 7. 493E+03 1. 244E+03
29 2. 792E+02 2. 496E+02
oW-11 30 7. 216E+02 5. 434E+02
31 1. 163E+04 1. 931E+03
— 32 5. 630E+04 2. 622E+04
33 2. 540E+04 3. 492E+03

4 5Nk 13-IRFT 12 - 5




% 2-53 NS HFMAlmmILA, 8 (Ss-D2)

Y =P I$4a(t/cm) P (t + s/cm)
3 2. 456E+02 2. 250E+02
OW-K 4 7.617E+02 5. 355E+02
5 1. 078E+04 1. 781E+03
10 1. 719E+02 1. 576E+02
IW-J 11 5. 334E+02 3. T49E+02
12 7. 549E+03 1. 247E+03
22 1. 958E+02 1. 795E+02
W-C 23 6. 075E+02 4. 271E+02
24 8. 598E+03 1. 420E+03
27 2. T11E+02 2. 484E+02
OW-A 28 8. 410E+02 5. 912E+02
29 1. 190E+04 1. 966E+03
30 5. 630E+04 2. 622E+04
FERERR
31 2. 540E+04 3. 486E+03
B 2-6 & EW AmMfilmE X4, 8 (Ss-D2)
SR, B 342 (t/cm) P (¢ + s/cm)
3 2. T11E+02 2. 485E+02
oW-1 4 8. 410E+02 5. 918E+02
5 1. 190E+04 1. 973E+03
7 1. 766E+02 1. 619E+02
V-2 8 5. 479E+02 3. 855E+02
9 7. T54E+03 1. 286E+03
24 1. T11E+02 1. 568E+02
IW-10 25 5. 308E+02 3. 735E+02
26 7. 513E+03 1. 246E+03
29 2. 656E+02 2. 434E+02
oW-11 30 8. 240E+02 5. T98E+02
31 1. 166E+04 1. 933E+03
— 32 5. 630E+04 2. 622E+04
33 2. 540E+04 3. 492E+03

4 Z-RIE 13-IRFF 12 - 6
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8 — O JM-CT WIH—£ ¥

5 3-13% [EAEMEAETRER (NS JFm)

{47 L Ss—D1 i IF 4 E T L Ss-D2 i T AE T /L
EEEpEE] & A7 SR AL EEEpEE ] & A IR Eh 4K GEENEE] [ A HEEh 5L
WEL I EREL AR S GHINeE i
(s) (Hz) (s) (Hz) (s) (Hz)
1 0.237 4. 21 2. 206 0. 233 4.29 2.224 0. 233 4.29 2.224
2 0.123 8.13 2.743 0.122 8. 17 2.678 0.122 8. 17 2.678
3 0.116 8. 60 1. 100 0.116 8.63 1. 173 0.116 8.63 1.174
4 0. 097 10. 33 2.094 0. 096 10. 41 2.014 0. 096 10. 41 2.013
5 0.093 10. 76 1. 098 0.093 10. 81 1. 263 0.093 10. 81 1. 264
B 3-2 K [BEAMEMAEITRER (EW fm)
Ml X7 L Ss—D1 il IXRET v Ss—D2 Al 112 E T /L
EEEREEL] EEEEIFE R EREpEE] I A R EN AL EREpEE] EEERIFE R
WHL GIN CE e N EE e Gl EE g
(s) (Hz) (s) (Hz) (s) (Hz)
1 0. 230 4. 36 2.179 0. 226 4. 42 2.190 0. 226 4.43 2.190
2 0.125 8.01 1.924 0.124 8. 06 1. 898 0.124 8. 06 1. 898
3 0.116 8. 64 0.073 0.115 8.67 0. 068 0.115 8.67 0. 068
4 0. 098 10. 15 0. 654 0. 098 10. 19 0. 624 0. 098 10. 19 0. 624
5 0. 091 10.93 0. 835 0. 091 10. 96 0.735 0. 091 10. 96 0.734




6 — CT JJ-CT WIEE T

E&EAHA 0.237 s
ElEiREER 421 Hz
FIARE 2.206 a4 0 o#

RK RJ S W. RC RA

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Xz L

0P+50.5 M

0P+41.2 W

0P+33.2 M

0P+22.5 M

O0P+15.0 M

0P +6.0 M

0P +1. 15H(SW)
0P 0.8 M

0P -8.1TM

0P-14.1 M

EEREH 0.233 s

EEIREER  4.29 Hz

RIBRER 2.224 a0 4

RK RJ S.W. RC RA

0P+50.5 M

O0P+41.2 N

0P+33.2 N

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8

0P -8.1M

0P-14.1 N

AlmE X Y (Ss—D1 Hk)

5 3-1 EAE— Fokbig (NS Hm 1K)

EEREH 0.233 s
EBEIREER  4.29 Hz
FBREK 2.224

RK

-1

0 +1

RJ

ihalEeeton)

oA
I,

(Ss—D2 HitfZ)

0P+50.5 M

OP+41.2 M

0P+33.2 M

0P+22.5 W

0P+15.0 W

0P +6.0 M

OP +1. 150 (SH)
0P -0.8 M

0P -8.1M

0P-14.1 M



0T — ST JA-CT WNE-F ¥

E&REH

0.123 s

EEIREEL 8.13 Hz

RIBRE

RK

2.743 .10

RJ S.W. RC

Xz L

RA

0P+50.5 M

O0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

0P -8.1M

0P-14.1 M

BB R 0.122 s

ElEiREIZK  8.17 Hz

B 2.678 40+

RK RJ S.W. RC RA

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

0P +1.15M (SW)
0P -0.8 M

P -81M

0P-14.1 M

AlmE X Y (Ss—D1 Hk)

5 3-2 A E— Rokbig (NS i\ 2 K)

EEREH 0.122 s
EEIREE 8.17 Hz
B 2.678

RK RJ A

RC RA

ihalEeeton)

(Ss—D2 HitfZ)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

0P +1.15M(SW)
0P -0.8 M

P -81M

0P-14.1 M



IT - 21 M1 WIE—F 7

EEREH 0.116 s
EEiREZER 8.60 Hz
FBRER 1.100 40 #

RK RJ S.W. RC RA

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P 0.8 M

P -81M

0P-14.1 M

Xz L

AL =pEibi] 0.116 s EE R 0.116 s
ElEiREIER  8.63 Hz EEIREZER 8.63 Hz
FIBREK 1.173 40 # FBRE 1.174 a0 o#
RK RJ S . RC RA RK RJ S.W. RC RA
0P+50.5 M
0P+41.2 M
0P+33.2 M
0P+22.5 M
0P+15.0 M
0P +6.0 M
OP +1.15M (SH)
0P -0.8 M

P -8.1M

0P-14.1 M

AlmE X Y (Ss—D1 Hk) MIE XA H D (Ss—D2 Hifik)

¥3-3X BEAET— ROk (NS FHE\ o 3%)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 N

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

0P -8.1MN

0P-14.1 M



¢l — C1 PA-CT WNE-F ¥

E& R

0.097 s

EBEIREER  10.33 Hz

RIBERE

RK

2.094 10

RJ SW. RC

RA

Xz L

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M (SW)

0P 0.8 M

P -81M

0P-14.1 M

)

BB A 0.09 s
EEIREER  10.41 Hz
FIBRER 2.014 40+

RK RJ S W. RC RA

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1.15M(SW)
0P -0.8 M

P -8.1 M

0P-14.1 M

AlmE X Y (Ss—D1 Hk)

5 3-4 A E— Rokbig (NS Hm 4 1K)

EE R 0.09 s
EEREE  10.41 Hz
FlBRER 2.013

RK

RJ S.W.

1 0 +1
[ S
RC RA

ihalEeeton)

(Ss—D2 HitfZ)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

0P +1.15M(SW)
0P -0.8 M

o -81M

o0P-14.1 M



€1 — ST PA-CTWNE-F ¥

EEREH 0.093 s

EBEIREEL  10.76 Hz

BRI 1.098 40

RK RJ S RC RA

Xz L

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1.15M(SW)
0P -0.8 M

P -81M

0P-14.1 M

EE R 0.093 s
EEIREEL  10.81 Hz
FARE 1.263 a4 0 o#

RK RJ S.W. RC RA

AlmE X Y (Ss—D1 Hk)

5 3-5 A E— Rokbig (NS Fm 5K)

0P+50.5 M

OP+41.2 W

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

0P -8.1TM

0P-14.1 M

ER R
(ESESEETIES

0.093 s
10.81 Hz

FIBERER 1.264

RK

RJ SW.

-1 0 +1
[ S

RC RA

ihalEeeton)

(Ss—D2 HitfZ)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

0P +1. 15M (SW)
0P -0.8 M

0P -8.1M

0P-14.1 M



VL - C1 J3-CT W ¥

EEREH 0.230 s

EBEIREER  4.36 Hz

FIBERER 2.179 a4 0 o#
R1 R2 R4 S M. R10 R11

Xz L

EE BT
EF iREE
R

0.226 s
4.42 Hz
2.190 -1 0 +

R1 R2 R4 S.W. R10 R11

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1.15M(SW)
0P -0.8 M

P -81M

0P-14.1 M

AlmE X Y (Ss—D1 Hk)

75 3-6 EAE— ROk (EW fim)

0P+50.5 M

OP+41.2 W

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SH)
0P -0.8 M

P -8.1M

0P-14.1 M

1 %)

EEREH 0.226 s
EEiREER  4.43 Hz
FBERER 2.190

R1 R2 R4

-1 0 +1
R10 R11

ihalEeeton)

(Ss—D2 HitfZ)

0P+50.5 M

O0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1.15H(SW)
0P -0.8 M

o -8.1M

0P-14.1 M



ST — ST PJA-CTWNE-F TV

EEREH 0.125 s
EEiREEY  8.01 Hz

FBRER 1.924 a0 o#
R1 R2 R4 S.W. R10 R11

Xz L

EB A 0.124 s

EBIRE#ER 8.06 Hz

FIBERE 1.898 a4 0+

et
R1 R2 R4 A R10 R11

0P+50.5 M 0P+50.5
0P+41.2 M 0P+41.2 M
0P+33.2 M 0P+33.2 M
0P422.5 M 0P+22.5 M
0P+15.0 M 0P+15.0 M
0P +6.0 M 0P +6.0 M
OP +1. 15M(SW) 0P +1.15M(SW)
0P 0.8 M 0P -0.8 M

P -8.1M 0P -8.1 M

0P-14.1 M OP-14.1

AlmE X Y (Ss—D1 Hk)

5 3-7 A E— Rokbig (EW G5 2 k)

EEREH 0.124 s
EEiREER 8.06 Hz
FIBRER 1.898

R1 R2 R4

1 0 +1
R10 RN

ihalEeeton)

(Ss—D2 HitfZ)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

P -81M

0P-14.1 M



- O1 BT W= ¥

91

ESE=pRib ] 0.116 s

ElEiREIER  8.64 Hz

FIBRER 0.073 40

R1 R2 R4 S.W. R10 R11

R K

P Ta ——————— %:s ——————— 4
b @ b B q
P L J 77777777 b P q
R I R D------- B------- q
oo q po------ q
,,,,,,,,,,,,,,,,,,,,,,,,,, Lol ]

Xz L

0P+50.5 M

OP+41.2 M

0P+33.2 M

0P+22.5 W

0P+15.0 M

0P +6.0 M

OP +1. 15M(SH)

0P -0.8 M

0P -8.1M

0P-14.1 M

R11

EEREH 0.115 s

EEREIER  8.67 Hz

FIBRE 0. 068 S

R1 R2 R4 S.W. R10
P T

Qe T@ ——————— %:; ———————

po-o - P b B

R et R E LT EEEE R S R

e D------- G-

R R

,,,,,,,,,,,,,,,,,,,,,,,,,, SR R

AlmE X Y (Ss—D1 Hk)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

OP+15.0 M

0P +6.0 M

OP +1.15M (SW)
0P -0.8 M

0P -8.1 M

O0P-14.1 M

i 3-8 A E— Rokbig (EW 5 3IK)

EEEH 0.115 s

EEREER 8.67 Hz

FBRER 0. 068 10 o+

R1 R2 R4 SW. R10 R11

R 4

P T ”””””” *:9 ”””” b
A S S 4t
P PG B e
L L R R CEEEE T R q
B------- 4q R q

ihalEeeton)

(Ss—D2 HitfZ)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

P -81M

0P-14.1 M



LT — 3T JA-CT WE-F ¥

E&EM
ElfiRE
RIBERE

R1 R2

0.098 s

10.15 Hz

0. 654 -1 0 +

R4 S.W. R10 R11

Xz L

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1.15M(SW)
0P 0.8 M

P -8.1 M

0P-14.1 M

EfEH
B iRENEL
RIBRE

R1 R2

AlmE X Y (Ss—D1 Hk)

H3-9X BEAET— ROk EWHE 4 %)

0.098 s
10.19 Hz
0.624 -1 0 +1
R4 S.W. R10 R11

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M

0P +1.15M(SW)
0P -0.8 M

P -81M

0P-14.1 M

BB
BB iRENE
R

R1 R2

ihalEeeton)

0.098 s
10.19 Hz
0.624 -1 0 +
R4 S.W. R10 RN

(Ss—D2 HitfZ)

0P+50.5 M

0P+41.2 M

0P+33.2

0P+22.5 M

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

P -81M

0P-14.1 M



8T — GT J)A-CT WE-F ¥

EFREH 0.091 s
EEIREER  10.93 Hz

FIBRER 0.835 a0 4
R1 R2 R4 S.W. R10 R11

Xz L

0P+50.5 M

O0P+41.2 M

0P+33.2 M

0P+22.5 N

0P+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P -0.8 M

P -8.1MN

0P-14.1 N

EEREH 0.091 s B EH 0.091 s

EEIREIER  10.96 Hz EGiREER  10.96 Hz

RIARE 0.735 10w RS 0734 4 0w

R2 R4 S.W. R10 R11 R1 R2 R4 S.W. R10 R11

0P+50.5 M
0P+41.2 M
0P+33.2 M
0P+22.5 M
0P+15.0 M
0P +6.0 M b {‘; ,,,,,,,,,,,,,,,,,,,,,,, 4‘; ,,,,,,, \4‘
OP +1. 15M(SW) : : : :
P-0.8M b 4 | b 4
L I e P
0P-14.1 M L,,,,,,,,,,,,,,,,,,,,,,,,, ,,,,,,,,,,,,,,,,J

AlmE X Y (Ss—D1 Hk) MIE XA H D (Ss—D2 Hifik)

% 3-10 EAE— Fokbig (EW Hm 5 W)

0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

OP+15.0 M

0P +6.0 M

OP +1. 15M(SW)
0P 0.8 M

P -8.1M

0P-14.1 M



cm/s 2
2500.0

cmls 2
2500.0

max.= 2062.9 cm/s 2

0.P.+14.8(2E)

-1277.3 cmis 2

A

O.P.+ 6.0(E+F)

max.=

cmis 2
25000 max.= 954.6 cm/s 2
i L
O.P.- 0.8(E+F)
cm/s 2
2500.0 max.= 673.2cm/s 2
0 [l
O.P.-8.1(E+F)
cmis 2
2500.0 max.= 610.0 cm/s 2
i o m ad Ll
0 it
O.P.-14.1(E+F)
0.0 20.0 40.0 60.0 80.0 100.0 120.0 140.0 sec
Ss-D1

7 3-11

cm/s
2500.0

cmls 2
2500.0

cm/s 2
2500.0

cmls 2
2500.0

cmis 2
2500.0

r max.= 2393.4 cms
0.P.+14.8(2E)

[ max.= 1476.9 cm/s 2
0.P.+ 6.0(E+F)

r max.= 1069.3 cm/s 2
0.P.- 0.8(E+F)

r max.= 807.4 cm/s ?

e o /

Ll L

0.P.- 8.1(E+F)

[ max.= -606.0 cm/s 2

L

0.P.-14.1(E+F)

L L L L J

0.0 20.0 40.0 60.0 80.0 sec
Ss-D2

4 Z5-BIHE 13- 12 - 19

cmis 2
10000.

8000.
6000.
4000.

2000.

cmis 2

SeDLZE

e
/

[~

002 005 010 020

—
050 100 2. 5,

0P.+14.8m

SeDLENF

10000.

8000. -

6000. -

4000. -

2000. |-

AT
AU

[and

cmis 2
10000.

005 010 020 050 100
0P+60m

SeDLEN

8000. -

h=0.05

6000. -

4000. -

2000. -

P

002

cmis 2

005 010 020 050 100
0P.-0.8m

SeDLEN
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